Crossbraces and Hardware

Frames shown
for reference only

for reference only

14-18” Wide Chairs



Crossbraces and Hardware

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1055296-NLA | NLA - Screw, Hex Head (1/4-28 x 1") 1 2
2 1026907 Washer (1/4 x 1/2 x 1/16") 1 12
3 1118521 Link, Pivot, Black (10 - 12" W) 1 2
3 1118522 Link, Pivot, Black (12 - 14" W) 1 2
3 1118523 Link, Pivot, Black (14 - 16" W) 1 2
3 1118524 Link, Pivot, Black (16 - 18" W) 1 2
4 1108477-NLA | NLA - Washer, Nylon (1/4 x 3/4 x 5/8") 1 2
5 1025730 Locknut (5/16-24) 1 1
6 1118501-NLA | NLA - Plug Button, Crossbrace - Upper 1 2
7 1118506 Tube, Crossbrace -Upper (10-12" W) 1 2
7 1118507 Tube, Crossbrace -Upper (12-14" W) 1 2
7 1118508 Tube, Crossbrace -Upper (14-16" W) 1 2
7 1118509 Tube, Crossbrace -Upper (16-18" W) 1 2
8 1118526 Bracket, Stop, Black (10-12" W) 1 2
8 1118527 Bracket, Stop, Black (12-14" W) 1 2
8 1118528 Bracket, Stop, Black (14-16" W) 1 2
8 1118529 Bracket, Stop, Black (16-18" W) 1 2
9 1157260 Spacer, Crossbrace (1/4 x 7/16 x 5/16) 1 2
10 A 1055349 Screw, Hex Head (1/4-28 x 2") 1 6
11 B 1065362 Locknut (1/4-28) 1 8
12 G 1118502-NLA | NLA - Cap, End, Lower, Black 1 2
13 1118511 Tube, Crossbrace -Lower (10-12" W) 1 2
13 1118512 Tube, Crossbrace -Lower (12-14" W) 1 2
13 1118513 Tube, Crossbrace -Lower (14-16" W) 1 2
13 1118514 Tube, Crossbrace -Lower (16-18" W) 1 2
14 1025705-NLA | NLA - Screw, Hex Head (5/16-24 x 3-1/4") 1 1
15 1046497-NLA | NLA - Washer, Nylon (5/16 x 7/8 x 1/64") 1 1
16 C,G 1107937-NLA | NLA - Strap, Pull 1 1
16 D 1118532 Strap, Pull 1 1
17 1016263 Spacer, Coved (3/4 x 1 x 1/2") 1 2
18 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 2
19 1025765 Locknut (1/4-28) 1 4
20 1118531 Bushing, Nylon (3/4 x 1/4 x 7/8") 1 2
21 E 1118535 Crossbrace Assembly, Black (10 - 12" W) (Pair) 2 1
21 E 1118536 Crossbrace Assembly, Black (12 - 14" W) (Pair) 2 1
22 F 1118537 Crossbrace Assembly, Black (14 - 16" W) (Pair) 2 1
22 F 1118538 Crossbrace Assembly, Black (16 - 18" W) (Pair) 2 1
NOTE: A - Chairs 14" wide and greater require 8 ea. of item 10 Screw
B - Chairs 14" wide and greater require 4 ea. of item 11 Locknut
C - 10-13" Wide Chairs
D - 14-18" Wide Chairs
E - Includes items 1-18

F - Includes items 2-20
G - No longer available as an individual service part, use Item 21 (1118535 or 1118536) or Item 22 (1118537 or 1118538) as
a replacement.




